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Set Id : 62269 7 BATCH2 D.ELEd. Odia_07NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

So, | lived my life alone, without anyone that | could really talk to, until | had an accident with my
plane in the Desert of Sahara, six years ago. Something was broken in my engine. And as | had
with me neither a mechanic nor any passengers, | set myself to attempt the difficult repairs all
alone. It was a question of life or death for me: | had scarcely enough drinking water to last a week.
The first night, then, | went to sleep on the sand, a thousand miles from any human habitation. |
was more isolated than a shipwrecked sailor on a raft in the middle of the ocean. Thus, you can
imagine my amazement, at sunrise, when | was awakened by an odd little voice.

1) What did the speaker attempt to do all alone?

A) To live alone.

B) To make difficult repairs.
C) To sail a ship.

D) To purchase a ship.

2) The speaker lived alone until

A) he met someone.

B) no one was present.
C) the plane accident.

D) all the passengers left.

3) The speaker was doing repairs alone because

A) It was a matter of life and death

B) independence had to be achieved
C) the plane had suffered an accident.
D) there were no passengers and crew.

4) How far was human habitation?

A) Two miles.
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B) Two hundred miles.
C) Two thousand miles.
D) One thousand miles.

5) Why was the speaker amazed?

A) He heard a tiny little voice.

B) He found water in a desert.

C) He wrote many pages together.
D) He completed the repairs.

6) Fill in the blank with the correct option:

| get playing games.

A) bored, bored
B) board, board
C) bored, board
D) board, bored

7) Which of the following is the right idiom for a man who is ready to cope with any contingency and
whose behaviour is always appropriate to every occasion?

A) A man of all days

B) A man of all seasons
C) A man of all months
D) A man of all ears

8) Fill in the blank with correct prefix or suffix:

During the logue, all the main actors of the play were mentioned.

A) intro
B) pro
C) pre
D) post
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9) Which of the following words is correctly spelt?

A) assasin
B) asassin
C) asasin
D) assassin

10) Which of the following idiomatic alternatives best explains the sense of something that is almost
impossible to find because it is concealed by so many other similar things?

A) Jack of all trades

B) Hamlet without the prince
C) Anything is possible

D) A needle in a haystack
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) The potential difference across a capacitor is doubled. What is the multiplication factor by which
the energy stored in it will change?

A) 4
B) 3
C)2
D) 1

11) sa1g4 @Ia1doa qaiea ALY aidey §9de 291 LA gae e @8 QI QI ¥86a rafo 98 0fer 629 ?

AT
B) M
C)?
D) ¢

12) Which house/s of Indian parliament can initiate the creation of All India Services?

A) Lok Sabha only

B) Rajya Sabha only

C) Both the Houses together
D) Either of the Houses

12) @uee1e Taea 6ae q@@/a@eﬂ@ﬁ? AR QUQSTA 62N FEIE 2R KGR A6 ERRAGS ?

A) RYm EMIadwl
B) 6990 QIg4aal
C) aea 92 9aid

D) cerg@e g casdleds

13) Which one of these is an active agency of non-formal education?

A) Government schools
B) Public universities
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C) Alternate schools
D) Special education centres

13) aciq 60dd 24- GAPIRR daia 1@ 284 2qale 2GS ?

A) 2a=Ial FMIPAIER

B) 692a91a1 f9FQUIRAgee
C) 998 SIR0YES

D) 964 98I 699

14) The Kothari Commission referred to Education as the only instrument of

A) Successful environmental change
B) National development

C) Peaceful social change

D) Meaningful economic change

14) sqi01d QAR wFale FeIg IGAIS TR QIF6R 69971 QGiAsR

A) aoe OREQEFRN AGRRR
B) qaia Gais

C) q1ggd aniee adees
D) zdgd 218ie 9tQae

15) The Justice Verma Commission(2012) was constituted to revisit the quality and vision of -

A) Elementary education in India
B) Secondary education in India
C) High School education in India
D) Teacher education in India

15) w1 YEIRAI IQ° 9eqfa ga anal @89l aie #8aq. Gdl afaq (90 9) G0R FAARYRI -

A) aiassa JI0GAR sl
B) Q1606& Alfia dal
C) 91606a 9% Sl
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D) aiaesa 99 da

Section 3 - Paperl-Reasoning

No. of Questions: 5

16) Which letter will be midway between R and L when arranged as per the alphabetical order?

A) |
B) K
€0
D) H

16) 6666960 adapl grsa @dgeq ARILR, R e L a auvaidse 674 28606 ad9 ?

A)l
B) K
C)0
D) H

17) In a certain code language ACTING is coded as ACTGNI and ACTION is coded as ACTNOI.
How would AFFORD be coded in that language?

A) AFFDRO
B) AFFRDO
C) AFFORD
D) AFFROD

17) «s 56a cqig aiaica ACTING @ ACTGNI aigsa ve* ACTION @ ACTNOI @uissa saie, @Al c21a@ | 6@ aIsisa
AFFORD q @08 eqig @QI9Q ?

A) AFFDRO
B) AFFRDO
C) AFFORD
D) AFFROD

18) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
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2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If xA2 * (y=2)=0, then what is the value of y?
l.x=4
. (y*2) — x=0

A) 1
B) 2
C)3
D) 4

18) SINYC ggedasa 536 @07 :
0. 9@ QR4 | araia AR 699Ig geaa 26T |

9. 9@ 994 || ¥gFal AAAIa AR 62919 9528 26T |
M. 96 QA4 | ve || aeng ¥eI0 FaIde 6060 AIWIR AR 6991 Tle AT 266 |

Q8 Q94 | ver Il aeag eI0 §218e 6060 @ AN RAQ 9! AIe AT G6S |

ad xM9 * (y—9)=0, 6069 y @ 7R 6960 ?

l.x=v%

Il. (y*9) - x=0

A) ¢
B) ¢
C)a
1)
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19) Sharada started walking south. After walking 15 m, she turned left and walked 15 m. Then she
again turned left and again walked 15 m. What is the distance and direction of her final point from
her starting point?

A) 15 m East
B) 15 m South
C) 30 m East
D) 30 m South

19) siel od6ea IR e F6q | ¢8 foa IR J6a 6Q QIAg 96 €8 foa PIFen | BITsa 64 9IAg Q& 98 ¢ 8 dea QIEea |
CIa°Q 2R AR QEAIQ d°GeQl AR FIRIER QA 6REE 1Q° 64 69 69Q G016Q 2188 ?

A) e8d. g
B) ¢ d. of¢
C)mo . g&
D) me &. o8

20) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the ratio of employees in departments A and B?
I. 20% of the employees in department A is equal to 30% of the employees in department B.

Il. The ratio of the female employees in department A to department B is 5:6.

A) 1
B) 2
(630
D) 4

20) YNYQ gggfaca 626 @ag :
0. 95 Q€ | arQiie ARQ 69919 Tcaa 26 |
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9. 2@ QA4 Il vgFa e LA caqlg Asae LUET' |
7. 96 QG | wer |l aeag 990 FaIde 606 AR AAR 699! IR ALY 26 |

¥. 96 @€l | ver |l aeag 9aI10 §2I89 6069 @ AR AR 6991 QI AT 6% |

A e B a0 adoioie 29016 6960 ?
|. A Galga 90% @¢0ia1 B §a19a No% adioiqie a8e ade |

Il. A dauga a2qI adoioie 2Qale B e ade 291e 8:9 26e |

A) ¢
B) ?
C)m
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which of the following is responsible for research in planning and management of education in
India as well as also in South Asia?

A) UGC

B) NCERT

C) NIEPA

D) NCTE

21) Gofge c1kIQ 6906 QIee o2l @84 Ydeica §91 6AIea! 8 IRARF 6HER ALANR IR DG ?

A) 954

B) ¥R3a2IeS
C) ¥Raiaad
D) ¥adea

22) In which of the following methods and/or techniques, the role of a teacher is of a facilitator rather
than an instructor?

A) Projects and Lecture

B) Lecture and Demonstration

C) Projects and Problem Solving

D) Problem Solving and Lecture

22) Gofide 988 1 /0 6alaR Q 6REER, §68 2UART FFI R66 PELIR aGesd, #64 ARIAR RUES c2IREN 7

A) ge8 I 2RUDR

B) 2eIgql & gode

C) 998 ¥& QaQl Qa9
D) Q€12 Qelilie 16" 10K

23) What does NAAC stand for?

A) Natural Assigned and Accredited Council
B) Nodal Assessment and Accreditation Commission
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C) National Assessment and Accreditation Council
D) National Assessment and Auditing Council

23) wa14@ (NAAC) 6a46 aiel 24996 £4?

A) 62Q4RIM AR I8 IGFEOR RRFR
B) soieia 16Q69R I8 I@E6THR @T6Q
C) 6299M 962694, 94 1@E659R QM
D) 6adam 162697 14 3607 Q1egm

24) Which of the following made an important observation on the crucial need for Information and
Communication Technology (ICT) to be made more accessible to stakeholders in education domain?
A) Kothari Commission

B) University Education Commission

C) National Knowledge Commission

D) Secondary Education Commission

24) SaRge AR 6990 99el I SAIRIEAIE 9989QY (21edE) @ gl 0fee FORRIRINIGEAIN geedd RSl RAER e
€12Q4 adyeand @adal ?

A) s2108 @dae

B) 999uina a4l 2i6aId
C) #1612 ]IS 2SS

D) akidie dal alsaia

25) "All arrangements that include two or more faculty in some level of collaboration in the planning
and delivery of a course” is called as

A) Panel discussion

B) Team teaching
C) Debate

D) Micro teaching

25) “9@ AI0IGFIA CAIRRI 18" S6ada ANB 1egl 6A60 G INCR LRNE @Al S FUCETR ALEAIT AsYs 61NN 1 slelg
QLIAIN
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A) 66IF19Q ERISR!
B) @rde diglaie

C) 994

D) 99 dRIQIe

26) Which of these teachers is teaching concept formation the best?
1. He asks the children to learn what is a bird by heart.
2 He asks the children to observe birds and draw them.

3. He gives the children pictures of birds including ostrich, pelican, bats and asks which of them are
birds and why.

4. He asks children to write down the description of their pet bird.
A) 1
B) 2

C)3
D) 4

26) 9F dues g RITIQ Fueie JERUD sead assien ?

¢. 62 GRinieg 081 SIAEQ FISE ROQIQ g2

9. 6 daicieg agitieg AR YLRIER 6LQF sanieal 68 aIEalg ge8 |

M. 6 JRIFING BV, CARRIR, FIPE 2IF ARFIRSA 68 T28 IT° CAFIRST FRIQ 6RLgEw U8 268 Y& Q196 6917 Aaed |

¥. 62 ARG 62AIFFA adIRe I8IQ 4ol cagalg 928 |

A) ¢
B) ¢
c)a
D)®

27) Which of the following are examples of positive non verbal reinforcement?

A) Nodding, Smiling, Frowning
B) Nodding, Frowning, Friendly look
C) Nodding, Smiling, Friendly look
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D) Nodding, Frowning, Sad

27) 39Rge AUQ 6246 6208 ARAIAR 2SEAYR @RINAEQ agIeas ?

A) ga geiieel, FIR-C1RQ 2891, gie

B) qe qzies), 98, @9qqd Q86 6Q¢a!

C) gs qeies), A10-00 2391, eaqqd Q86Q 6Ya!
D) qe qeiaql, giauies, G8HS 62Q!

28) Miscue Analysis (while assessing reading aloud) involves analysing

A) children's errors to understand the logic of their predictions
B) children's minds to find out the process of learning to read

C) children's loud reading to find out the behavioural changes during reading
D) children's correct pronunciation to examine cognitive changes

28) 3%y F6g8¢ (22 YRR TR JAIFS KG9 ATER) 6N a Gegae AR 6QIR2N |

A) 6Q0199°Q JRIGAINA edg 84! ol TAIFINGQ g8
B) o@9l SigQia gaIQ 189l Qi dallesa e

C) ada anasa zivasss JARRR idel ol GRIAIFTa a8 asa aaal

D) girae 0@@@9&@9@ 2e1@l 2091q ARFIRFR A0R AP

29) The school administration today makes arrangements in the existing infrastructure so as to
accommodate children with special needs. This is a method of

A) Modernization
B) Inclusion
C) Development
D) Progress

29) 9@ geIAe 9°ge TR QRpMca AR @QES AIZl TREQ QT QIR AALER ANARG
QHILIRAUIRG | 9€ ARG @6 QLI ?
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A) 2RYFKRE
B) aeg@aad
C) Qaid

D) aa%

30) The classroom management technique in which teacher establishes transition routine that
students learn and execute quickly and repeatedly is known as

A) do now written activity
B) seat signal

C) tight transition

D) non verbal intervention

30) sg¢ige afaeal aed a6 LrRIOR 08eERdIR AIGIET 2Ies 908 alel QQUINAIee F1g e SIeAia J48 Ie FIdIER f6IE
el QPR FElar |

A) esaie aag 6MHIG adieqia
B) 2Ia¢ A65@

C) @0¢ adeda

D) 24 6dlige 29saa
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 632 QIR YTYTR 6Q6G QIGER TOD?

A) ¥
B) 8
C)m
D)9

32) ‘GIQe’ aR6a 696 RO LLE 62198 7
A) 29

B) @

C) @al

D) @

33) @AQ ¢ Ja9g @4 gRIAN?

A) ad
B) @4l
C)uig
D) geye

34) ‘eQq’ ara SAAIGITEIIUR 99 218 |

A) e@ed
B) zaed
C) aed
D) &9

35) QUIEQ UL AMRIFT Q'€
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A) goue
B) Qa@
C) gq@
D) @@

36) 3641 FIQ 6QRT AR YF 96w 2

A e
B) @
C)a
D) &

37) ‘@ole’ 206 92 IR6a 699 AIg Qe 4 ?

A) @2
B) ¢

C) @l
D) 59

38) ‘caigl G2e’ QFa 28 Gque @ |

A) 2IECIG! SaRIa
B) 8¢ Qieael o
C) gramel

D) @ AGER @ AR

39) ‘agsa Y@ 629" Qe 2d 708 /9 |

A) 999 6aql

B) #19¢ 024 @<
C) o&el

D) 6516 a4
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40) QQ, |1, 692, FEIG- @ LR I6JY ?

A) IRRIeR
B) agQioe
C) Q1510
D) gecios

41) ‘a1 99a QAQIGITACLIIR g9 9ig |

A) @1
B) 29¢
C) @ae
D) 296

42) ‘dQRIe 910G @dd Q8 62108?

A) 99 QIR6Q AITITA 69
B) a¢ aIe @Q88 64 64
C) q1& QI9Ie 9Q 98 69
D) QleQ 9g Q& QI9ia 69

43) ‘g9’ zeiea ‘aa’ a8 aaIdia 600 9adg L |

A) SIeaa
B) fga@
C) 58
D) gstee

44) Q919 6AIRAISR AF0IEQ 2R RIS — QSIS 99T & TQ?

A) @99

B) aqya 9@
C) aeqIq g@
D) G6894 @

WtsApp/Call- 8596976190
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45) ‘9clae’ 49a AFIFEIR I8 UL |

A) 99
B) ad
C) gRIsd
D) Qeisd
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) Which of the following is the possible number of solutions for the equation 3x + 4y = 8?
A) None

B) One

C) Two

D) Many

46) 3x + 4y = B aeaed AIal FRAYS FQ 6996 AAINY PR AT 26T ?
A) @@ g6

B) 6eliga

C) 9a@

D) 2608

47) What is the area of the isoceles triangle whose base is 8 cm and the other 2 sides are 6 cm
each?

A) 8v5 sq.cm
B) 125 sq.cm
C) 20V5 sq.cm
D) 16V5 sg.cm

47) 9@ QGIg S99 68RTR 6@60 629 IRIa §F 8 6af e 2y 2 Al gecia 62ad 6 61 ?

A) 8V5 ad sad

B) 125 adi sad
C) 205 o4 saf
D) 165 edi sad

48) Which is the least number that is divisible by all the integers from 1 till 12 (including both)?
A) 24820

B) 26620
C) 27720
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D) 27920

48) 64 AAY AT saelC 2163, T 1 @ 12 adis ane gderay qial §a166 99 (00aQ 2aEs §8) ?

A) 24820
B) 26620
C) 27720
D) 27920

49) A man buys a toy car for ¥ 300 and sells it for ¥ 350. What is his percentage of gain?

A) 10.50%
B) 12.60%
C) 14.61%
D) 16.67%

49) es4 948 e 69n! flag T 300 ca G438 ver waig T 350 60 9§ 908 | 9IF AING 966G 6866 ?

A) 10.50%
B) 12.60%
C) 14.61%
D) 16.67%

50) If the sum of one-fourth of a number and the number itself is equal to 20, then what is the number?

A) 16
B) 14
C) 12
D) 10

50) a8 19 croa 9@-9gdrd 9o 692 reia saleTR 20 24, 6659 PHIF 666 689 7

A) 16
B) 14
C) 12
D) 10

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

51) An equilateral traingle AABC is inscribed in a circle and another circle is inscribed in the triangle
AABC. If the area of the inner circle is 20 11, then what is the area of the outer circle?

A) 401r
B) 60T
C) 80t
D) 1201

51) ve aceig §ge AABC 1@ @osa 2a7dic 62108 e aey 1@ 96 8§99 AABC sa 297d@0 ceieg | 98 2s qoa cagae 20 T
6069 QIR QOR CRALTR 6966 629 ?

A) 40T
B) 60T
C) 80T
D) 1201

52) The greatest number which when divides 166 and 237 leaving remainders 6 and 5 respectively,
is

A)6

B) 8

C)12

D) 18

52) 698 QIRF A°HIG 6996 26E, QLI 166 ver 237 gal aIe FEM aIeas DaIgsn 6 1e 5 adei ?

A) 6
B) 8
C) 12
D) 18

53) The cost price of an article is 75% of the selling price. What is the percentage of profit gained by
selling that article?

A) 25%

B) 33.33%

C) 42.50%

D) 75%
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53) e @ga 92 gal 6208 482 gaua 75% | 6aR QZQ Tea NEM 6966 F0Q AN GRS ?

A) 25%
B) 33.33%
C) 42.50%
D) 75%

54) Two numbers are in the ratio 8:9 and their LCM is 1,512. Which are the two numbers?

A) 160 and 180
B) 168 and 189
C) 176 and 198
D) 200 and 225

54) gaf creuia agaie 28 8: 9 W caninae aalg s2ad 1,512 1 6QT ol 9a6 6Q60 2

A) 160 99° 180
B) 168 9g° 189
C) 176 99° 198
D) 200 9g° 225

55) The representation of the set {x:x is an integer and x - 2 = 0} in roster form is

A) 2

B) {2}
C)[2]
D) |2|

55) sae {X:x 6208 @ g4 &l 9&* X - 2 = 0} @ 0009l sa18q adea 6208

A) 2

B) {2}
C)[2]
D) 12|

56) Sameer planted 7,225 plants in a such a way that, there are as many rows as there are plants
in a row. How many plants are planted in a row?
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A) 55
B) 75
C) 85
D) 95

56) acia 7,225¢ cgq 106 91966 6Q194 @6R 64, AYLID 6AGE IE ABF TR cATRE CI8 QEE | 6069 MIFER 6R60IF CI8 ATl
QARG ?

A) 55
B) 75
C) 85
D) 95

57) 2 equilateral triangles each of side 12 cm are drawn inside a circle to form a star. If the bases of
the triangles are parallel to each other, then what is the area of the circle outside the star?

A) 36(1-V3) sq. cm
B) 48(1r-V3) sq. cm
C) 60(1-V3) sq. cm
D) 24(1-V3) sq. cm

57) 26 12 6qf Qg 988 ar9Ig §eog I Q6 FER 196 R0 FQldIag A9l S1eq 9 Q¢ | 98 A9 §eea | Jeee ae
AAIBAIR 62IR2 6069 SR ALIEE QI YO EVITH 6T60 629 ?

A) 36(1-V3) o4 ead
B) 48(17-V3) odl 6af
C) 60(1-V3) a4 6af
D) 24(1-V3) o sad

58) The number which bears the same ratio to (7/43) that (9/22) does to (5/11) is

A) 61/430
B) 63/430
C) 63/431
D) 61/431
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58) (56/11) ae (9/22) a sase 2galc 0@, (7/43) a@e @I2ia 6364 2gale Q@8 ?

A) 61/430
B) 63/430
C) 63/431
D) 61/431

59) If Set A has m elements, then what is the cardinality of the power set P(A)?

A) 2m
B) 2™ -1
C) 2m.
D) m?

59) a@ 6ac A 6a M QaIRIe 088, 6062 AIGIx 62¢ P(A) @ QIGQIAG 62aa ?

A) 2m
B) 2™ -1
C) 2m.
D) m?

60) What is the square root of the sum of the two numbers 5,929 and 69,6967

A) 375
B) 365
C) 325
D) 275

60) ead el 5,929 e 69,696 @ aada QdigR 6969 ?

A) 375
B) 365
C) 325
D) 275
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) What happens to the relative humidity when the air temperature increases?

A) Increases
B) Decreases
C) Remains Constant
D) Fluctuates

61) QIge eIacIglI 9F 696R 2CATR 2UIG! @'l 62IR2lN ?

A) 98 g9
B) g g4
C) ga adanq

D) ei@da saIxelig

62) Among the following options, the layer of the atmosphere closest to the Earth is

A) Stratosphere
B) Troposphere
C) Exosphere
D) lonosphere

62) FONGE FaegleR fuisa gENIa FREE AIYAGRA 0 6208

A) 81601321
B) geai@aq
C) 169112
D) ang6qidaq

63) What among the following was formulated by the 73rd and 74th Amendment Acts?

A) Nagar Palika
B) Mandal Parishad

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

C) Municipalities
D) Municipal Corporation

63) oM 09 1% 9% 6F PEAIUS AN QIO FORYS FIQ 6RAT F0R FAUANYRI ?

A) 792 AR

B) aae atwe

C) qeaiaaIgee
D) goa Gag

64) How many Upanishads are listed in the Muktika Upanishad as per Vedic literature?

A) 107
B) 108
C) 109
D) 106

64) 60G@ AITRY ALY (BRI QUGIRER 6R6CIT RUTAR YINRIQD 26T ?

A) 09
B) ¢or
C) eo¢
D) €02

65) Unplanned migration adversely impacts environment. According to the census, which of the
following Urban Agglomeration has the highest share of migrants?

A) Mumbai UA
B) Bengaluru UA
C) Delhi UA

D) Kolkata UA

65) 2gcaIeaiea QIRIead adces aUsa giqe geie ARIRAN | @RISR AQaIse, FYAYS AUQ AW A0Q AFLER JRIAITR 2P
AN 2T ?

A) 97UR g3
B) seaqQ @9
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C) 991 99
D) calmelol g4

66) Which segment of the environment on the Earth mainly includes soil, mountains, rocks, and
minerals?

A) Hydrosphere

B) Lithosphere

C) Atmosphere

D) Biosphere

66) gfie1 aficada caa SRIEa JaNes AIF, ase, aaa e HERY awid zegs ?

A) Q601399
B) Qsa@o
C) ageni@ax

D) Qiequ@aq

67) Inner cabinet, consisting of the Prime Minister and two to four influential and trustworthy
colleagues is also known as the

A) Peer Cabinet

B) Closed Cabinet

C) Kitchen Cabinet

D) Drawing room Cabinet

67) Quindal 98 9aQ 98 94 gaISsIRT e 342 Aeedis sea 906 29ald qudsas IZ RIFIER v ealgsl

A) Qe MRS,
B) 90 @udeae.
C) @60, @udeqs,

D) esf @f QuITeqe,

68) Article 43 B in Part IV of the Constitution of India deals with ?

A) Village Panchayat
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B) Rural Business
C) Forest Development
D) Co-operative services

68) alcea afuga IV euoe aial yn B ade ana Q6T ?

A) 99 relRe

B) qieng queaiay
C) eTa Jaid
D) AeQUY 649

69) Which among the following options is an imaginary line that runs East to West around the Earth?

A) Meridian

B) Prime Meridian
C) Latitude

D) Longitude

69) Gaade 9890 AR 6RUE @ AERI 6adl Il JAN1R IR adag aRe ?

A) RIS 6Ql

B) qu (ISR 608
C) agrg

D) qide

70) The author of the autobiography 'The Indian Struggle' was ?

A) Sardar Vallabhai Patel
B) Lala Lajpat Rai

C) Subhash Chandra Bose
D) Chittaranjan Das

70) ‘e adue A0Q’ AGNINRIA AL aeal

A) 2€IQ e9ERIR A66R
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B) Qil QIede Qe
C) 9919 92 6918

D) Gaorae @14

71) The Aitareya Upanishad is associated with which of the following four vedas of Vedic Age?
A) Rigveda

B) Yajurveda

C) Samaveda

D) Atharvaveda

71) 6300 goa FIRGS CI6QIT 6a@ FIQ 696 986 I960a IR /50 2

A) gaisee
B) agede
C) aaeee
D) 2l2196ae

72) The Kharif cropping season is around which of the following months?

A) July-October

B) October-March

C) September-Mid December
D) Late December-Mid March

72) Geqie AIRYGR aug 694 AIAgPRR AHATER GG TARR O 26D ?

A) 2RIQ-26]INQ

B) 2ERAeR-CIF

C) 6269Ra- §6a0a Al
D) 8627 c818-aiga AxIaIe

73) The spirit of the makers of the Constitution of India is reflected in

A) The Preamble
B) The Fundamental Rights
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C) The Fundamental Duties
D) The Directive Principles of State Policy

73) Qe Qe SAIGIKISS A9 gEaFe 62108

A) ggieqitQ
B) caiGe 2006
C) sai6e agaueq

D) aisy q16a GedaniaicR

74) The sun is directly overhead at the Equator for

A) four times in a year
B) three times in a year
C) two times in a year
D) once in a year

74) 98y 9erl el aasa QAR 6L &Q adad

A) edsa afee
B) @déa 652
C) 986 9028
D) <€6a 26

75) In which year of 26th January, INC observed ' Independence Day ' for the first time?

A) 1925
B) 1947
C) 1950
D) 1930

75) sad eda sigzial 9.9 GIATER, 2iaed gas aa dis ‘Aiesl @R’ aiee eGdel ?

A) e¢98
B) eC¥9
C) e¢8o
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following product is formed and also name the type of reaction when ethyl
chloride is treated with aqueous KOH?

A) Ethanol and addition

B) Ethene and elimination

C) Ethanol and substitution

D) Glycol and double substitution

76) @312 KOH o8¢ aaieq 6q/aae 1921a @913l a6 @649 aaIe fQ 6266 a0 249 9e* 628q ceadiel géGdaa geiee
Qa0 @'dl ?

A) QRIQR <& saig

B) asae we @GR

C) QuIom v 93198

D) QIaem ey 9691ae

77) What type of crystalline solid does diamond belong?

A) Molecular solid
B) lonic solid

C) Covalent solid
D) Metallic solid

77) 2101 624 geleq 360 AR 26e ?

A) zigde A9

B) snidq ae
C) aesaia1 ag
D) uiee Q9

78) A 5 kg body has an acceleration of 4 m/s2. What is the net force acting on it?
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A) 40 N
B) 10 N
C)30N
D)20 N

78) 4@ 5 kg @gQ QQél 62Q8 4 m/s?. YLl QU6Q @Ifl @QQl AFQIL R 6@R6L ?

A) 40 N
B) 10 N
C)30N
D)20 N

79) The most common solidifying agent added to culture media is:

A) starch
B) gelatin
C) agar

D) silica gel

79) AQER FIIFIER A8l AR AR0IQ ARIRE AVIRS I69S 6208

A) &S

B) samicq
C) ge@

D) 3Rl 6o

80) Identify the CORRECT statements from the following:

A) Stems which remain above the ground to perform different functions are called subaerial stems

B) Stems present partly above the ground and partly below the ground are called underground
stems

C) Onion and Garlic are example of bulb type of underground stems
D) Buds are modified into hard pointed small structures called as Tendrils
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£0) AONYE Feadgee fug A0eEqg 90 @9 :

A) 98¢ Iy @39l sl 9F Q06 aFeRl FIRYF] AELER 68 GRIAN

B) arde 9f aasa 9o 2rde 9f csr 2ade a9l engse 2LAYIAE 684 golaN
C) Gue 9o age 6008 @R geiee ALAGINEG 687 aeieas

D) @0¢ a2l 6816 2°aefI6a QUISAC 6QI0RYLY ssdq QRIAI

81) Which among the following is CORRECT regarding roasting process used in metallurgy?

A) This is used mainly for sulfide ores and heated in presence of air
B) This is used mainly for oxide ores and heated in presence of air
C) This is used mainly for sulfide ores and heated in absence of air
D) This is used mainly for oxide ores and heated in absence of air

g1) IQSIRIAER QL cQIE° 9@l FEA6R FRYe rIg 62aE A0 26E ?

A) <l gee ARTIRG I TG aisf 1ege 29 1e @Iga 20356a 5aa 24
B) ol gene AFIRQ UG T8 a eiege 99 1o QIge 803560 606 24
C) val gae ARTING 2P T4 el 1ege 29 I Q19 2993560 6ae 29
D) wel getie QNG I a9 ae NILS 29 I YR AGAFE6R AR 99

82) Which among the following condition is important when gas is converted into liquid state?

A) It has to be equal to critical volume
B) It has to be below or equal to critical temperature

C) It has to be below critical volume and above critical temperature
D) It has to be above critical temperature

82) quia eas 29giea afEe 6LQIERER, FORYS Ueg AuIQ 6966 9Qegs ?

A) a1 QIZRIVOR ade QdlIe 6291 USSR
B) ol QIB@ SIAG9Q @F1 §al acie s29l ZIosue

C) wo QIERINGR0IQ a2 ve YITR TG00 YR 629! 2eaie
D) o 918@ QIA9101g e 6291 2IR6HR
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83) The Sl unit of force is

A) Coulomb
B) Kilogram
C) Ampere
D) Newton

83) @@ 1a9 6208

A) gme]
B) @smigiel
C) 9daQ
D) Qaeq

84) Which of the following normally live in the intestines of healthy people and animals?

A) E. coli
B) Amoeba
C) Fungi
D) Yeast

84) doade AuUq 6598 ARSI 9 FIGAY IS AGAIRE UBFRIER AIA AR ?

A) 2. 6@
B) zisaIel
C) @9@
D) a&

85) Select the CORRECT statements from the following:

A) Prokaryotic cells are fundamentally similar in organization and shapes but variable in functions

B) Prolaryotic cells are fundamentally similar in shapes and functions but variable in organization
C) Prokaryotic cells are fundamentally similar in organization and functions but variable in shapes
D)

Prokaryotic cells are fundamentally similar in organization but variable in shapes and functions
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85) AINYE g A0R, Fedg OAR RAY :

A) 6gIRI65R 6RIEYRR TAOR 9 2q6a 67IRS NINER AR g RIIER [aTalalalaria)
B) sgnidese saiegde 2198 e QIdica 67T RINEQ ATIG A POREA 3R aralalila
C) 6QIRIREER 6R19gFR A0SR IS QIdisa sAIFe TR AR § 2IQFsa AORRRENR

D) sgieideda saiagae raoqsa siRe aiesa adlie &g 2196 e QIdysa gTalatalebyila

86) Which of the following statements is TRUE with reference to cymose inflorescences?

A) The main axis is of unlimited growth
B) The flowers are arranged in a basipetal succession
C) The flowers are arranged in a acropetal succession
D) The opening of flowers is centripetal

86) dNEAIR JIUGR IR Fgade CIRIQ sqa FPQEIE Qe ?

A) gen 2eQ aaide fef @4
B) anq@e e sedsosin qrsa aRiaing

C) qm@@ 9@ ZIEQEATIR Y6 ARIARE
D) €% CUIRNQI 6202 6LTeUSIN

87) What will be the percentage increase in volume of a gas whose pressure is decreased by 40%
keeping mass and temperature both constant?

A) 6.76%

B) 78.43%
C) 27.52%
D) 66.67%

87) 8ee v claniglq Je o aa 40% g/a anen euIaa TAISER 6960 §07¢! 9F 629 ?

A) 6.76%

B) 78.43%
C) 27.52%
D) 66.67%
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88) Which of the following things force CANNOT do on a body?

A) It can change the speed of a body

B) It can change the direction of motion of a body
C) It can change the mass of the body
D) It can change the shape of the body

88) ARG ARIQ 62Q AR 9 ATER §I Q1T ?

A) N2l QA 6991 QIRIR IR

B) w2l 9@ 9ga 620 Gog QORIR AR
C) 12l 0ga 9gRQ FanIa A9

D) vgl egQ 29I0g QORIR IR

89) Daniel Koshland's proposed theory of enzyme ineraction, and it was called as

A) Lock and key theory

B) Reduced fit theory

C) Induced fit theory

D) Enzyme coenzyme theory

89) QITNM 6QENIS NGRS FFACIQ Faieq geide REEEM e aig el |

A) o 1e° @ d]Ie
B) Ggiaq dq dale
C) argiae, e dale

D) 9aaI1a9] 621MaRIRN 3818

90) Which of the following cell organelle function is the transmission of characters from one
generation to another?
A) Lysosomes

B) Golgi apparautus
C) Nucleus

D) Endoplasmic Reticulum
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90) S9Adge AUQ 697 ACFAR 6QQ AIdiC cead Qe 66lIc T@Q URY Y@ TG QOIRQ! ?

A) QIRQ 611

B) 66I®1 2I2IRISY

C) f4q0Q

D) veaigeidia sacgme
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